ﬂ FURUNO

PACKING LIST FOR CSH5LBB/55

Box 1 - CSH5210/11 Processor Unit Wt: 22 Ibs. Dim: 19"x 20"x 13"

Part No. Description Quantity
1 CSH-5210 Processor Unit 1
2 CSH-5211 Control Unit with Cable 1

Box 2 - CSH5130-5L/55 Transceiver Unit Wt: 67 Ibs. Dim: 17"x 25"x 16"

Part No. Description Quantity
1 CSH-5130-5L Transceiver Unit "55Khz" 1
Box 3 - CSH5020/55 Wt: 18 Ibs. Dim: 14"x 28"x 9"

Part No. Description Quantity
1 CSH-5020 Preamplifier Unit "55Khz" 1

Box 4 - CSH5LBBCBL Cable Wt: 73 1bs. Dim: 22"x 24"x 16"

Part No. Description Quantity

1 000-146-500 Cable 3COX-2P-6C "5M" 1

2 006-976-590 38P Cable Assy. S10-6-30 "30M" 1

3 006-976-610 Cable S10-7-5 "5M" with Connex 1

4 006-976-520 Cable 1051562 "5M" with Connex 1

5

6 000-146-501 10M Spl. Order for #1 Above

7 006-976-580 15M Spl. Order for #2 Above

8 006-976-600 50M Spl. Order for #2 Above

9 006-976-460 10M Spl. Order for #3 Above

10 006-976-470
11 006-976-440
12 006-976-450

15M Spl. Order for #3 Above
10M Spl. Order for #4 Above
15M Spl. Order for #4 Above

Box 5 - CSH5XDR/556 Transducer Wt: 62 Ilbs. Dim: 16"x 16"x 25"

Part No. Description Quantity
1 CSH5XDR 55 Khz Transducer with Cable 1
Box 6 - CSH5SHAFT/4

Part No. Description Quantity
1 CSH5SHAFT/4 Shaft for Transducer "4M" 1

Page 1 of 3

For Internal Use Only

Serial No.4616 -

Checked By:
Tech
Date
CSH5210/211
Yes Remarks

CSH5130-5L/55

Yes Remarks

CSH5020/55

Yes Remarks

CSHSLBBCBL

Yes Remarks

CSH5210>monitor

CSH5210>5130

#1 CSH5020>5130

#2 CSH5020>5130

CSH5XDR/556
Yes Remarks

CSH5SHAFT/4
Yes Remarks

12+ feet long




i)
[] FURUNO

PACKING LIST FOR CSH5LBB/55

Box 7 - CSH5LBBINST Installation Kit

Part No.

000-127-234
000-568-226
000-519-542
000-554-516
000-508-660
000-508-661
000-508-663
000-508-662
000-118-309
000-519-542
000-570-325
500-310-040
000-570-325
500-310-040
100-302-210
000-863-206
000-864-206
000-864-106
000-861-224
000-803-147
000-801-787
000-549-062
000-102-045
000-105-683
000-110-946
000-110-947
000-112-430
000-116-944
000-122-000
000-505-750
000-546-707
000-549-013
006-979-300
006-979-310

© 00N O Ok~ WDN PP

W W W W WNDNDNDNDNDNMNDNNDNMNNMNNRPEPERERPPEPRPEPRPEPRPEPRPERERPEPPR
A W NP OOONO OGP WOWNPEPOOONOOGPMWDNLEPEDO

Description
"8016" Connector

Insulation Tube 50CM
"8017" Contact Pin

Vinyl Wire 2M

Connector SRCN6A13-3P
Connector SRCN6A13-5P
Connector SRCN6A 16-10P
Connector SRCN6A 19-7P
"8016" Connector

"8017" Contact Pin

Plastic Band

Copper Strap 1.2M x 50MM
Plastic Band

Copper Strap 1.2M x 50MM
Keyboard Mounting Plate
Hex Nut M4

Spring Washer M4

Flat Washer M4

Oval Head Screw M4 x 12
Hex Bolt M5 x 12

Rubber Foot

Fuse FGBO 2A

Connector XH 13pin
Connector XH 7pin
Connector XH 15pin
Connector XH 10pin
Connector XH 14pin
Connector XH 12pin

Fuse FGMB 2A

Connector ML 2pin

Fuse FGBO 4A

Fuse FGBO 7A

NK Socket with 155MM Pigtail

XH Pin with 155MM Pigtail

Page 2 of 3

Wt: 66 Ibs. Dim: 16"x 22"x 40"

Quantity

DN NN BDNDNDNDNMNDNNDNDNDMNDNDDNDDEBAMDNDNMNDNDNPREPE

N
o

For Internal Use Only

Serial No.4616 -

Checked By:
Tech

Date

CSHSLBBINST

Yes

Remarks

sub 006-910-940

sub 006-904-880

sub 006-905-030

sub 006-907-700

sub 006-904-850




(] For Internal Use Only
[l ruruNno
Checked By:
PACKING LIST FOR CSH5LBB/55 Tech
Date
Box 8 - CSH5040 Wt: 54 Ibs. Dim: 12"x 40"x 15" CSH5040
Part No. Description Quantity Yes Remarks
1 CSH-5040 Hull Unit for 600mm Stroke 1 400mm special order
Box 9 - MS100 Motion Sensor Wt: 91lbs. Dim: 16"x 14"x 11" MS100
Part No. Description Quantity Yes Remarks
1 MS100 Motion Sensor 1
2 006-535-030 Hanger Assembly 1
3 000-800-565 Nylon Rivet 4
4 000-801-516 Hex Bolt M5 x 16 4
5 000-802-081 Tapping Screw 5 x 20 4
6 006-591-760 Cable Assembly "10M" 1
7 IME-127-80Z Installation Manual 1
rev 10/03

Page 3 of 3



